
Adding/Subtracting Decimals to Hundredths (F)

Calculate each sum or difference.

5.69 + 3.10 = 3.23 + 2.07 =

8.93 + 5.87 = 8.63 + 6.22 =

5.53 + 5.34 = 8.26 − 2.96 =

6.68 + 3.07 = 9.09 − 7.64 =

9.28 − 6.65 = 6.84 − 2.17 =

9.72 − 7.56 = 5.30 − 2.42 =

7.41 − 2.28 = 4.70 + 3.94 =

1.83 − 1.15 = 9.18 − 3.67 =

9.46 − 3.91 = 8.95 − 6.74 =

8.14 + 4.64 = 8.94 + 1.68 =
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Adding/Subtracting Decimals to Hundredths (F) Answers

Calculate each sum or difference.

5.69 + 3.10 = 8.79 3.23 + 2.07 = 5.3

8.93 + 5.87 = 14.8 8.63 + 6.22 = 14.85

5.53 + 5.34 = 10.87 8.26 − 2.96 = 5.3

6.68 + 3.07 = 9.75 9.09 − 7.64 = 1.45

9.28 − 6.65 = 2.63 6.84 − 2.17 = 4.67

9.72 − 7.56 = 2.16 5.30 − 2.42 = 2.88

7.41 − 2.28 = 5.13 4.70 + 3.94 = 8.64

1.83 − 1.15 = 0.68 9.18 − 3.67 = 5.51

9.46 − 3.91 = 5.55 8.95 − 6.74 = 2.21

8.14 + 4.64 = 12.78 8.94 + 1.68 = 10.62
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